Spiral Review:

1. Use the right triangle to the right,
label the side opposite <C with an "O", the
side adjacent to <C with an "A", and the H
hypotenuse with a "H'". 0

2. Use the right triangle to the right,

label the side opposite <R with an "O", the P Q
side adjacent to <R with an "A", and the
hypotenuse with a "H". A

p.647 4.2 Ellipses (Day 1)
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Students will be able to find the center, vertices, foci, and
cccentricity of the ellipse.

Example 1: Find the center, vertices, foci, and eccentricity of the

ellipse.
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Students will be able to find the standard form of the equation of
the ellipse, state characteristics, and sketch.

Example 2: Find the standard form of the equation of the ellipse,
find the center, foci, vertices, and eccentricity, and sketch.
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Students will be able to find the standard form of the equation of
the ellipse, state characteristics, and sketch.
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Students will be able to find the standard form of the equation of
the ellipse, state characteristics, and sketch.
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Students will be able to find the eccentricity of the ellipse.

Example 3: Find the eccentricity of the ellipse.
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Turn-in: p.654 (34, 44)

HW: p.654 (9, 11, 29-45 odds)



